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13 int res = 0;
1 000000 14 for (int i =t; 1 > 0; i -=1i & -i) {
1 import static java.lang.Math.*; 15 res += vs[i];
2 import static java.util.Arrays.*; 16 }
3 import java.io.*; 17 return res;
4 import java.util.k; 18 }
5 19 //00,i1] 000 k0000000000 10000
6 public class Main { 20  int get(int k) {
7  static boolean LOCAL = System.getSecurityManager() == null; 21 int p = Integer.highestOneBit(vs.length - 1);
8  Scanner sc = new Scanner (System.in); 22 for (int q = p; @ > 0; g >=1, p I=q) {
9 23 if (p >= vs.length || k < vs[p]) p "= q;
10 wvoid run() { 24 else k -= vs[pl;
11} 25 }
12 26 return p;
13 void debug(Object...os) { 27}
14 System.err.println(deepToString(os)); 28 }
15}
16 2.2 RMQ
17  public static void main(String[] args) { 1 class RMQ {
18 if (LOCAL) { 2 int[] vs;
19 try { 3 int[]J[] min;
20 System.setIn(new FileInputStream("in.txt")); 4 RMQ(int[] vs) {
21 } catch (Throwable e) { 5 int n = vs.length, m = log2(n) + 1;
22 LOCAL = false; 6 this.vs = vs;
23 } 7 min = new int[m] [n];
24 } 8 for (int i = 0; i < n; i++) min[0][i] = i;
25 new Main().run(); 9 for (int i = 1, k = 1; i < m; i++, k <<= 1) {
26} 10 for (int j = 0; j + k < n; j++) {
27 } 11 min(i][j] = vs[min[i - 11[j]] <= vs[minli - 1]1[j + k1] ?
12 min[i - 1]J[j] : min[i - 1]1[j + k];
13 }
2 00000 14 }
21 BIT 15}
1 class BIT { 16 //0000000000000000O0DO00O0
2 int[] vs; 17 int query(int from, int to) {
3 BIT(int n) { 18 int k = log2(to - from);
4 vs = new int[n + 1]; 19 return vs[min[k] [from]] <= vs[min[k][to - (1 << k)1] 7
5 } 20 min[k] [from] : min[k][to - (1 << k)];
6 void add(int k, int a) { 21}
7 for (int i = k + 1; i < vs.length; i += i & -i) { 22 int log2(int b) {
8 vs[i] += a; 23 return 31 - Integer.numberOfLeadingZeros(b);
9 } 24}
10} 25 }
11 int sum(int s, int t) {
12 if (s > 0) return sum(0, t) - sum(0, s);
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23 O00OO0O0O 25 if (t == null) return new T(key, val, random(), null, null);
1 class Intervals { 26 if (key < t.key) return t.change(put(t.left, key, val), t.right).normal();
2  TreeMap<Integer, Integer> map = new TreeMap<Integer, Integer>(); 27  if (key > t.key) return t.change(t.left, put(t.right, key, val)).normal();
3 Intervals() { 28  return new T(key, val, t.p, t.left, t.right);
4 map.put (Integer.MIN_VALUE, -1); 29 }
5 map.put (Integer .MAX_VALUE, -1); 30 T remove(T t, int key) {
6 } 31 if (t == null) return null;
7 void paint(int s, int t, int ¢) { 32 if (key < t.key) return t.change(remove(t.left, key), t.right);
8 int p = get(t); 33 if (key > t.key) return t.change(t.left, remove(t.right, key));
9 map.subMap(s, t).clear(); 34  return merge(t.left, t.right);
10 map.put(s, c¢); 35 }
11 map.put(t, p); 36 T merge(T t1, T t2) {
12 } 37 if (t1 == null) return t2;
13 int get(int k) { 38 if (£2 == null) return ti;
14 return map.floorEntry(k).getValue(); 39 if (tl.p < t2.p) return tl.change(tl.left, merge(tl.right, t2));
5} 40  return t2.change(merge(tl, t2.left), t2.right);
16 } 41 }
2.4 Treap 25 000000
oooooooon gooooooooboooboo
1 class T { parent(i) = i/2
2 final int key, val; left(i) = 2i
3 final double p; size(i) = N/highest(i)
4 final T left, right; (i) = size(i)i — N
5 T(int key, int val, double p, T left, T right) { 1 class Seg {
6 this.key = key; 2 int N;
7 this.val = val; 3 Seg(int n) {
8 this.p = p; 4 N = Integer.highestOneBit(n) << 1;
9 this.left = left; 5 }
10 this.right = right; 6 //000000000000
11} 7 void query(int k) {
12 T change(T left, T right) { 8 for (int i = N + k; i > 0; i >>=1) {
13 return new T(key, val, p, left, right); 9 //. ..
14} 10 }
15 T normal() { 1}
16 if (left != null && left.p < p && (right == null || left.p < right.p)) { 12 //0000000000000
17 return left.change(left.left, change(left.right, right)); 13 void query(int s, int t) {
18 } else if (right != null && right.p < p) { 14 while (0 < s && s + (s & -s) <= t) {
19 return right.change(change(left, right.left), right.right); 15 int i = (N+s8) / (s & -8);
20 } 16 /...
21 return this; 17 s += s & -s;
22} 18 }
23 } 19 while (s < t) {
24 T put(T t, int key, int val) { 20 int i =N +1t) / (t & -t) - 1;
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O:r0000 «r02000000000

21 /... 6 }
22 t =t & -t; 7 return us;
23 } 8}
24 } 9 boolean dfs(V v) {
25 } 10 v.state = 1;
11 for (Vu : v) {
12 if (u.state == 1 || u.state == 0 && 'dfs(u)) return false;
3 000 13}
3.1 00O 14 us[--n] = v;
311 0000000000 15 v.state = 2;
0000000000000000 V,00 E,00 FOOOOOOOOOOV-E+F=2 16  return true;
3.1.2  MaxFlow-MinCut 0 O 17}
00 st-000000=00 st+-000000
000 GOO0D0000000000000 G;0s000000000000 X0000 §5(X) 33 0DOoOoOoooo
313 00000000000 0000000000000 (00000000000)0000000000000000
|00D00000 |<|000000 |(00000000000) DOoOo0O0O000000000000000000O
|00D0000 |+|000000 =V 00000000 kOODOOcomp 0000000000 [0,k)000
0000000000000 |0000000 |+|000000 (|=V 1 int scc(V[] vs) {
000000000 |000000 | =|000000 | 2 n = vs.length;
XCV(G)OGooood «V(@G)\X0OGooooo 3 us = new V[n];
314 0DOOOO 4 for (Vv : vs) if (!'v.visit) dfs(v);
000 GOO0000O000 (GO00000 -G00000)00000000000 5 for (Vv : vs) v.visit = false;
315 ODOoooood 6 for (Vu : us) if (lu.visit) dfsrev(u, n++);
K,00000000i0000 0000000000000 7  return n;
(n—2)! 8}
(dy — D(do — 1)!...(d,, — 1)! 9 void dfs(V v) {
3.1.6 Kasteleyn 00O 10 v.visit = true;
0000000000000 0000000000000000000000 (000000-1000)000 11 for (Vu: v.fs) if (lu.visit) dfs(u);
oooooO0o000O0O0OO0O0OOOOOO 12 us[--n] = v;
00000000000000000000000 13}
0000000000000000000000000000000000000 14 void dfsrev(V v, int k) {
3.1.7 TutteOO 15 v.visit = true;
Tutte 0000 VxVOOODOOODODO GOOOOOO0O0O0O00000O00000000 ¢'00 (v,u)00 16 for (Vu : v.rs) if (lu.visit) dfsrev(u, k);
0000 2p, 000000 tyy = Tous tuw = =T, 10000 17 v.comp = k;
00000000000 TuwteDOOOOOOOOOOOOOOOOOOOOOO 18 }
z000000000000000000000000
32 000000000 34 00000
0000000000 v[[0O0vjj00000 =i<j0000000000000 00000000 DFSO0000000000 numO00
00000000000000000O0O0O0O0O0O0O0O0O000000000000 000000000000 lowdODOOO
1 VI] topologicalSort(V[] vs) { ‘ 0 num|v]
2 n = vs.length; ‘ 00000000 v0O0O0D0D000000000 w0000 num(ul
‘3 us = new V[n]; ‘ OvOOO uwOO0D0O low[u]
4 for (Vv i vs) { | ooooo
E |

if (v.state == 0 && 'dfs(v)) return null;



University of Tokyo

3 000 4/25

O00:vO0OOO & vOOO uwuDOO000 numlv] < low|[y]
(v,u) 00 < num|v] < low[y]
count 0000000 DOO0O0O0OO0OO0OOOODOOOOOOOODOOOOOOO

1 ArrayList<E> connection(V[] vs) {
2  bridge = new ArrayList<E>();
for (Vv : vs) if (v.num < 0) {
dfs(v, 0);

if (v.count > 0) v.count--;

return bridge;

}

3

4

5
6}
7

8

9 int dfs(V v, int c) {
10 v.num = C;

11 int low = c;

12 boolean rev = false;

13 for (Vu : v) {

14 if (u.num < 0) {

15 int t = dfs(u, ¢ + 1);

16 low = min(low, t);

17 if (v.num <= t) v.count++;

18 if (v.num < t) bridge.add(new E(v, u));

19 } else if (u.num != v.num - 1 || rev) low = min(low, u.num);
20 else rev = true;

21}

22 return low;

23 }

14 max = max(max, (dp[nl[i] - dp[jl1[il) / (@ - j));
15 }

16 res = min(res, max);

17

18 return res;

19 }

36 JOOO0OoOoon
JOo0000000000000000ooDoDoDDoOoObObODbODObO000000o0oOoOoOoOoo
JOo000000000o0d0o0ooooooooooooooooo
0000000000000 dd0o0o0o00oooooooooDobObOoboooboOooDoDoDooDooooOoOooa

ooo
gooooboodooooooooooooooobobobobobbbbbbobo0o0o0ooooooooo
O(VE)

1 int arborescence(V[] vs, V r) {

2 int res = 0;

3 OOoOooood
gooooooooa
prev000000D000O0OOO0ODOOODOOOOOOOOOOOOODOO
O(VE)

3 for (Vv : vs) for (Ee : v.es) e.to.min = min(e.to.min, e.cost);
4 for (Vv : vs) if (v !'=1) {

5 if (v.min == INF) return INF;

6 res += v.min;

T}

8 for (Vv : vs) for (Ee : v.es) if (e.to != 1) {
9 e.cost —-= e.to.min;

10 if (e.cost == 0) {

11 v.fs.add(e.to);

12 e.to.rs.add(v);

13 }

14}

15 int m = scc(vs);
16 if (m == vs.length) return res;
17 V[ us = new V[ml;

1 double mmc(int[] ss, int[] ts, double[] cs, int n) {
2 int m = ss.length;
double([][] dp = new double[n + 1][n];
for (int i = 0; i < n; i++) {
£i11(dp[i + 1], INF);
for (int j = 0; j < m; j++) {
dpli + 11[ts[j1] = min(dp[i + 11[ts[j1], dplillss[jl1] + cs[jl);

© 00 N O O > W

}

10 double res INF;

11 for (int i = 0; i < m; i++) if (dp[nl[i] < INF) {
12 double max = -INF;

13 for (int j = 0; j < n; j++) {

18  for (int i = 0; i < m; i++) us[i] = new V(Q);

19  for (Vv : vs) for (E e : v.es) {

20 if (v.comp != e.to.comp) us[v.comp].add(us[e.to.comp], e.cost);
21}

22  return min(INF, res + arborescence(us, us[r.comp]));

23 }

37 DOooOoooa
000000000000 00000 ts000000000000O00O0000O000O0
dp[Slv]:=SCcTODveVOOOOOOOOODOOODOOOO
O(3'n + 2'n? + n3)
1 int steiner(int[]1[] g, int[] ts) {
2 int n = g.length, m = ts.length;
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3 if (m < 2) return 0; 15 }
4  int[]1[] dp = new int[1 << m][n]; 16 }
5 for (int k = 0; k < n; k++) { 17 if (t.p < p) return flow;
6 for (int i = 0; i < n; i++) { 18 for (int f; (f = dfs(s, t, INF)) > 0; ) flow += f;
7 for (int j = 0; j < n; j++) { 19 }
8 glil[3] = min(glil[j1, glil (k] + gkl [j1); 20 }
9 } 21 int dfs(V v, V t, int £) {
10 } 22 if (v == t) return f;
11} 23 for (; v.iter >= 0; v.iter—-) {
12 for (int i = 0; i < m; i++) { 24 E e = v.es.get(v.iter);
13 for (int j = 0; j < n; j++) { 25 if (v.level < e.to.level && e.cap > 0) {
14 dpl1l << i][j] = glts[i11[j]1; 26 int d = dfs(e.to, t, min(f, e.cap));
15 1 27 if (d > 0) {
16 } 28 e.cap -= d;
17 for (int 1 = 1; i < 1 << m; i++) if (((1 - 1) & i) !=0) { 29 e.rev.cap += d;
18 for (int j = 0; j < n; j++) { 30 return d;
19 dplil[§] = INF; 31 }
20 for (int k= (1 - 1) & i; k> 0; k= (k - 1) & 1) { 32 }
21 dplil [j] = min(dp[i]l[j]1, dp[kI1[j] + dpli ~ k1[j1); 33}
22 } 34  return 0;
23 } 35 }
24 for (int j = 0; j < n; j++) { 36 class V {
25 for (int k = 0; k < n; k++) { 37  ArrayList<E> es = new ArrayList<E>();
26 dpl[il [j] = min(dp[il[j]1, dplil[k] + glk][j1); 38  int level, p, iter;
27 } 39  void add(V to, int cap) {
28 } 40 E e = new E(to, cap), rev = new E(this, 0);
29 } 41 e.rev = rev; rev.rev = e;
30 return dpl[(1 << m) - 1][ts[0]]; 42 es.add(e); to.es.add(rev);
31} 43}
44 }
3.8 Dinic 45 class E {
1 int dinic(V s, V t) { 46V to;
2 int flow = 0O; a7 E rev;
3  for (int p = 1; ; p++) { 48 int cap;
4 Queue<V> que = new LinkedList<V>(); 49  E(V to, int cap) {
5 s.level = 0; 50 this.to = to;
6 s.p = p; 51 this.cap = cap;
7 que.offer(s); 52}
8 while (!que.isEmpty()) { 53 }
9 V v = que.poll();
10 v.iter = v.es.size() - 1; 39 0OoOoOoooo
11 for (E e : v.es) if (e.to.p < p && e.cap > 0) { oooooooooo
12 e.to.level = v.level + 1; O(n?)
13 e.to.p = p; ‘ 1 int minCut(int[1[1 ¢) {
14 que.offer(e.to);
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2 int n = c.length, cut = INF; 21 if (t.min == INF) return -1;
3 int[] id = new int[n], b = new int[n]; 22 int d = flow;
4  for (dimt i = 0; i < n; i++) id[i] = i; 23 for (E e = t.prev; e != null; e = e.rev.to.prev) {
5 for ( ; n > 1; n--) { 24 d = min(d, e.cap);
6 £i11(b, 0); 25 }
7 for (int i = 0; i + 1 < n; i++) { 26 for (E e = t.prev; e != null; e = e.rev.to.prev) {
8 int p=1i+ 1; 27 res += d * e.cost;
9 for (int j = i + 1; j < n; j++) { 28 e.cap -= d;
10 blid[j1] += c[id[il]1[id[j1]; 29 e.rev.cap += d;
11 if (blid[pl] < bl[id[j11) p = j; 30 }
12 } 31 flow -= d;
13 swap(id, i + 1, p); 32 for (Vv : vs) v.h += v.min;
14 } 33}
15 cut = min(cut, bl[id[n - 1]1]1); 34 return res;
16 for (int i = 0; i < n - 2; i++) { 35 }
17 cl[id[i]1[id[n - 211 += c[id[i1][id[n - 11]; 36 class V {
18 clid[n - 211[id[i]] += c[id[n - 11]1[id[i]]; 37  ArrayList<E> es = new ArrayList<E>();
19 } 38 E prev;
20} 39  int min, h;
21 return cut; 40  void add(V to, int cap, int cost) {
22 } 41 E e = new E(to, cap, cost), rev = new E(this, 0, -cost);
42 e.rev = rev; rev.rev = e;
3.10 0OOo0oO 43 es.add(e); to.es.add(rev);
0000000000000000 a4}
1 int minCostFlow(V[] vs, Vs, V t, int flow) { 45 }
2 int res = 0; 46 class E implements Comparable<E> {
3 while (flow > 0) { 47  V to;
4 for (Vv : vs) v.min = INF; 48  E rev;
5 PriorityQueue<E> que = new PriorityQueue<E>(); 49 int cap, cost;
6 s.min = 0; 50 E(V to, int cap, int cost) {
7 que.offer(new E(s, 0, 0)); 51 this.to = to;
8 while (!que.isEmpty()) { 52 this.cap = cap;
9 E crt = que.poll(); 53 this.cost = cost;
10 if (crt.cost == crt.to.min) { 54 }
11 for (E e : crt.to.es) { 55  public int compareTo(E o) {
12 int tmp = crt.cost + e.cost + crt.to.h - e.to.h; 56 return cost - o.cost;
13 if (e.cap > 0 && e.to.min > tmp) { 57}
14 e.to.min = tmp; 58 }
15 e.to.prev = e;
16 que.offer(new E(e.to, 0, e.to.min)); 311 0ooOoOoooo
17 } gooooboooboooboooboobooboobooboobooooo
18 } O(VE)
19 } 1 int bipartiteMatching(V[] vs) {

20 }

2 int match = 0;
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3 for (Vv : vs) if (v.pair == null) {
4 for (Vu : vs) u.used = false;

5 if (dfs(v)) match++;

6}

7 return match;

8}

9 boolean dfs(V v) {

10 v.used = true;
11 for (Vu : v) {

12 V w = u.pair;

13 if (w == null || !w.used && dfs(w)) {
14 v.pair = u;

15 u.pair = v;

16 return true;

17 }

8}

19 return false;

20 }

21 class V extends ArrayList<V> {
22V pair;

23 boolean used;

24 void comnect(V v) {

25 add (v) ;

26 v.add(this);

27}

28 }

17 }

18 }

19 for (Vv : vs) v.used = false;

20 int d = 0;

21 for (Vv : vs) if (v.pair == null && dfs(v)) d++;
22 if (d == 0) return match;

23 match += d;

24}

25 }

26 boolean dfs(V v) {
27 v.used = true;
28  for (Vu : v) {

29 V w = u.pair;

30 if (w == null || !w.used && v.level < w.level && dfs(w)) {
31 v.pair = u;

32 u.pair = v;

33 return true;

34 }

3% }

36 return false;

37 }

312 ODoooooo
go0oooooooooooooo
goooooooooooooooobooboOooooooOOoOOOO0OOoOoOooOObObOOOoOoooooooo
gooooooobooboobooooooooooOobobOoOoOoooobooooooobOOobOOoOobOOCbCbObOOoOooooo
oooooooooo

O(VVE)

goboooooo0oooooooooooooooooon

1 int hopcroftKarp(V[] vs) {
2 for (int match = 0;;) {

3 Queue<V> que = new LinkedList<V>();
4 for (Vv : vs) v.level = -1;

5 for (Vv : vs) if (v.pair == null) {
6 v.level = 0;
7

8

9

que.offer(v);

}
while (!que.isEmpty()) {
10 V v = que.poll();
11 for (Vu : v) {
12 V w = u.pair;
13 if (w != null && w.level < 0) {
14 w.level = v.level + 1;
15 que.offer(w);

16 }

0O(n?)

0i0000 resfj00000

orderM[i]jj 00 i0 jOO0DOOO

preferW[i][j] 00 i00 jOO0O0OO0ODODO

1 int[] stableMatching(int[][] orderM, int[][] preferW) {

2 int n = orderM.length;

3 int[] pairM = new int[n], pairW = new int[n], p = new int[n];
4 £ill(pairM, -1);

5 fill(pairW, -1);

6 for (int i = 0; i < mn; i++) {

7 while (pairM[i] < 0) {

8 int w = orderM[i] [p[i]l++], m = pairW([w];

9

if (m == -1) {
10 pairM[i] = w;
11 pairWlw] = i;
12 } else if (preferW[w][i] < preferW[w][m]) {
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13 pairM[m] = -1; 7 //0000000

14 pairM[i] = w; 8 double disLP(P p1, P p2, P q) {

15 pairWlw] = i; return abs(p2.sub(pl).det(q.sub(pl))) / p2.sub(pl).abs();

16 i =m; 10 }

17 } 11 //0000000000

18 } 12 boolean crsSS(P pl, P p2, P g1, P q2) {

19 } 13 if (max(pl.x, p2.x) + EPS < min(ql.x, g2.x)) return false;

20  return pairM; 14 if (max(ql.x, g2.x) + EPS < min(pl.x, p2.x)) return false;

21 } 15 if (max(pl.y, p2.y) + EPS < min(ql.y, g2.y)) return false;

16 if (max(ql.y, q2.y) + EPS < min(pl.y, p2.y)) return false;

3.13 0O0OO0O0 17 return sig(p2.sub(pl).det(ql.sub(pl))) * sig(p2.sub(pl).det(q2.sub(pl))) < EPS
ooo000oooooooon 18 && sig(q2.sub(ql) .det(pl.sub(ql))) * sig(q2.sub(ql).det(p2.sub(ql))) < EPS;
000000000 rev 0000 19 }

1 V[] eulerianWalk(V v) { 20 //000000000

2 Stack<V> res = new Stack<V>(), stack = new Stack<V>(); 21 boolean crsCS(P c, double r, P p1, P p2) {

3 stack.push(v); 22 return disSP(pl, p2, c) < r + EPS &&

4 while (!stack.isEmpty()) { 23 (r < c.sub(pl).abs() + EPS || r < c.sub(p2).abs() + EPS);

5 v = stack.pop(); 2}

6 while (v.p < v.size()) { 25 //00000000

7 stack.push(v); 26 boolean crsCC(P c1, double rl, P c2, double r2) {

8 v = v.get(v.p++); 27  double dis = cl.sub(c2).abs();

9 } 28  return dis < r1l + r2 + EPS && abs(rl - r2) < dis + EPS;

10 res.push(v); 29 }

11 } 30 /0000000000 (00000 true)

12 return res.toArray(new V[0]); 31 boolean onCir(P p1, P p2, P p3, P p4) {

13 } 32 if (abs(p2.sub(pl).det(p3.sub(pl))) < EPS) return true;
33 P c = ccenter(pl, p2, p3);

3.14 LCA 34 return abs(c.sub(pl).abs2() - c.sub(p4).abs2()) < EPS;
00000 DFSO0000000000000 e2*n-1J000000 v[2*n-1J000000000000 eO 35 }

0000000 an]0000e RMQv( [a[u],a[v]])]0000000 36 //0000000000000O0

3.15 2SAT 37 P proj(P p1, P p2, P q) {
0(yvz)0O0O0OO-y—20 »—y00000000000000000 38  return pl.add(p2.sub(pl).mul(p2.sub(pl).dot(q.sub(pl)) / p2.sub(pl).abs2()));

39 }

ooooooooooooobo0o0oooobbo00 20 2000000000000 O0DOOOCOODOODOODO
ooooooooooo
r000000000000000000 00000000000 ODODOODOOOOOO0O0 200

4 O0O0O0O

41 0000

1 //0000000

2 double disSP(P pl, P p2, P q) {

3 if (p2.sub(pl).dot(q.sub(pl)) < EPS) return q.sub(pl).abs();
4 if (pl.sub(p2).dot(q.sub(p2)) < EPS) return q.sub(p2).abs();
5 return disLP(pl, p2, q);

6

40
41
42
43
44
45
46
47
48
49
50
51

//00000000
P isLL(P pl, P p2, P q1, P g2) {
double d = g2.sub(ql) .det(p2.sub(pl));
if (abs(d) < EPS) return null;
return pl.add(p2.sub(pl).mul(q2.sub(ql).det(ql.sub(pl)) / d));
}
//0000000 (p1O00no0)
P[] isCL(P ¢, double r, P p1, P p2) {
double x = pl.sub(c).dot(p2.sub(pl));
double y = p2.sub(pl).abs2();
double d = x * x - y * (pl.sub(c).abs2() - r * r);
if (d < -EPS) return new P[0];
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52 if (d < 0) d = 0; 97 for (int i = 0; i < ps.length &% i < gs.length; i++) {
53 P gl = pl.sub(p2.sub(pl).mul(x / y)); 98 list.add(new P[] {ps[il, qs[il});

54 P g2 = p2.sub(pl) .mul(sqrt(d) / y); 99 }

55  return new P[1{ql.sub(q2), ql.add(q2)}; 100 return list.toArray(mnew P[0][]);

56 } 101 }

57 //00000O 102 //00000000O0O

58 P[] isCC(P c1, double rl, P c2, double r2) { 103 double areaCC(P cl1, double rl, P c2, double r2) {

59  double x = cl.sub(c2).abs2(); 104  double d = cl.sub(c2).abs();

60 double y = ((r1 * rl - r2 *xr2) / x + 1) / 2; 105 if (r1 + r2 < d + EPS) return O;

61 doubled =rl *xrl / x -y *y; 106 if (d < abs(rl - r2) + EPS) {

62 if (d < -EPS) return new P[0]; 107 double r = min(rl, r2);

63 if (d < 0) d = 0; 108 return r * r * PI;

64 P gl = cl.add(c2.sub(cl).mul(y)); 109 }

65 P g2 = c2.sub(cl) .mul(sqrt(d)).rot90(); 110 double x = (d * d +rl *rl - r2 *xr2) / (2 * d);

66  return new P[1{ql.sub(q2), ql.add(q2)}; 111 double t1 = acos(x / r1);

67 } 112 double t2 = acos((d - x) / r2);

68 //0 pO000O0OO0OOOOOO 113 return rl * rl * t1 + r2 * r2 * t2 - d * rl * sin(tl);
69 P[] tanCP(P c, double r, P p) { 114 }

70 double x = p.sub(c).abs2(); 116 /000000 r000O0O00 pl,p200000000000000
71 double d = X - r * r; 116 double areaCT(double r, P p1, P p2) {

72 if (d < -EPS) return new P[0]; 117 P[] gs = isCL(0, r, pl, p2);

73 if (d < 0) d = 0; 118 if (gs.length == 0) return r * r * rad(pl, p2) / 2;

74 P ql = p.sub(c).mul(r * r / x); 119  boolean bl = pl.abs() > r + EPS, b2 = p2.abs() > r + EPS;
75 P q2 = p.sub(c).mul(-r * sqrt(d) / x).rot90Q); 120 if (bl && b2) {

76 return new P[]1{c.add(ql.sub(q2)), c.add(ql.add(q2))}; 121 if (pl.sub(qs[0]).dot(p2.sub(gs[0])) < EPS &&

77} 122 pl.sub(gs[1]) .dot(p2.sub(gs[1])) < EPS) {

78 //00000O0OO 123 return (r * r * (rad(pl, p2) - rad(qs[0], gs[1])) + qs[0].det(gs[11)) / 2;
79 P[1[] tanCC(P c1, double rl, P c2, double r2) { 124 } else {

80 List<P[]> list = new ArrayList<P[]>(); 125 return r * r * rad(pl, p2) / 2;

81 if (abs(rl - r2) < EPS) { 126 }

82 P dir = c2.sub(c1); 127 ) else if (b1) {

83 dir = dir.mul(rl / dir.abs()).rot90(Q); 128 return (r * r * rad(pl, qs[0]) + gs[0].det(p2)) / 2;
84 list.add(new P[] {cl.add(dir), c2.add(dir)}); 129} else if (b2) {

85 list.add(new P[] {cl.sub(dir), c2.sub(dir)}); 130 return (r * r * rad(qs[1], p2) + pl.det(qs[1])) / 2;
86 } else { 131} else {

87 P p=cl.mul(-r2).add(c2.mul(rl)).div(rl - r2); 132 return pl.det(p2) / 2;

88 P[] ps = tanCP(cl, rl, p); 133}

89 P[] gs = tanCP(c2, r2, p); 134 }

90 for (int i = 0; i < ps.length && i < gs.length; i++) {

91 list.add(new P[] {ps[il, gs[il}); 42 00

92 } 00000000000

93 } 0oooooooo

94 P p = cl.mul(r2).add(c2.mul(rl)).div(rl + r2); 000o000o0ooOoO0oooooooooo

95 P[] ps = tanCP(cl, rl, p); goooooooobooobooooboooboo

96 P[] gs = tanCP(c2, r2, p);
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1 P[] convexHull(P[] ps) { 10 set.add(new V(isLL(ps1[il, ps2[il, psi[jl, ps2[j1)));
2 int n = ps.length, k = 0; 1 }
3 if (n <= 1) return ps; 12 }
4 sort(ps); 13}
5 P[] gs = new P[n * 2]; 14 V[] vs = set.toArray(new V[0]);
6 for (int i = 0; i < n; gs[k++] = ps[i++]) { 16 for (int i = 0; i < n; i++) {
7 while (k > 1 && gslk - 1].sub(gsl[k - 2]).det(ps[i].sub(qslk - 11)) < EPS) k--; 16 ArrayList<V> list = new ArrayList<V>Q);
g8 } 17 for (Vv : vs) {
9 for (int i =n -2, t = k; i > 0; gslk++] = ps[i--1) { 18 if (crsSP(psil[il, ps2[il, v.p)) list.add(v);
10 while (k > t && gs[k - 1].sub(qs[k - 2]).det(ps[i].sub(gqs[k - 11)) < EPS) k--; 19 }
11} 20 V[] us = list.toArray(new V[0]);
12 P[] res = new P[k - 1]; 21 sort(us);
13 System.arraycopy(gs, 0, res, 0, k - 1); 22 for (int j = 0; j + 1 < us.length; j++) {
14  return res; 23 us[j].connect(us[j + 11);
15 } 24 }
25}
43 DOOOOOO 26 return vs;
O(n) 27 }
0000000 plp2000000000O0

1 P[] convexCut(P[] ps, P p1, P p2) {

2 int n = ps.length;

3 ArrayList<P> res = new ArrayList<P>();

4  for (int i = 0; 1 < n; i++) {

5 int d1 = sig(p2.sub(pl).det(ps[i].sub(p1)));

6 int d2 = sig(p2.sub(pl).det(ps[(i + 1) % n].sub(p1)));

7 if (d1 >= 0) res.add(ps[il);

8 if (d1 * d2 < 0) res.add(isLL(pl, p2, psl[il, ps[(i + 1) % nl));
9

45 0000000000000
O(n)
000000 10000000 o00000000-1000

1 int contains(P[] ps, P q) {
2 int n = ps.length;

3 int res = -1;

4 for (int i = 0; i < n; i++) {

5 P a = ps[i]l.sub(q), b = ps[(i + 1) % n].sub(q);
6 if (a.y > b.y) {
7

8

9

}
10 return res.toArray(new P[0]); Pt=a; a=b; b=t;
! )
if (a.y < EPS && b.y > EPS && a.det(b) > EPS) {
44 000000000 10 res = -res;
D00D00000000000000000000000000000000000000000000000 |12}
0o0o00ooo0o0o0oon 12 if (abs(a.det(b)) < EPS && a.dot(b) < EPS) return 0;
O(n3) 13}
1 V[] segmentArrangement (P[] psi, P[] ps2) { 14 return res;
2 int n = psl.length; 15 }

TreeSet<V> set = new TreeSet<V>();
for (int i = 0; i < n; i++) {
set.add(new V(ps1[il));
set.add(new V(ps2[il));
for (int j = 0; j < i; j++) {
//00000000000000000000000000
if (crsSS(psilil, ps2[il, ps1[jl, ps2[j1)) {

© 00 N O 0> W

46 OOO0OOOOOODOOOOOO
goooooooooooo0oOoooboooobob0bDooDOoooOUDoOopbDoooo
O(logn)
goooooooobooooboo

1 double disConvexP(P[] ps, P q) {
2 int n = ps.length;
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3 int left = 0, right = n; ‘
4 while (right - left > 1) { 48 OO0
5 int mid = (left + right) / 2; 481 0OOOOO
6 if (in(ps[(left + n - 1) % n], ps[left], ps[mid]l, ps[(mid + 1) % nl, @) { a?i—kbi?—kcz?

7 right = mid; a+b+c

8 }else { 482 000000

9 left = mid; R = S
_ BC-CA ApT

10 } A+B ABxBC AB

11} 2

12 return disSP(ps[left], pslright % nl, q); 483 DOOODOO

13 } H=3G -20

14 boolean in(P pl, P p2, P p3, P p4, P @ {
15 P 012 = pl.sub(p2).rot900);

16 P 023 = p2.sub(p3).rot900);

17 P 034 = p3.sub(p4) .rot900);

18  return in(o12, 023, q.sub(p2)) || in(023, 034, q.sub(p3))

19 Il in(023, p3.sub(p2), q.sub(p2)) && in(p2.sub(p3), 023, g.sub(p3));
20 }

21 boolean in(P pl, P p2, P q) {
22 return pl.det(q) > -EPS && p2.det(q) < EPS;
23 }

47 0ODD0OOOOOO
gooooooooooOooooooobobooooooo
O(n)

484 00OO00OO0OO

—aA +bB +cC
ZeA+05+¢C hppooon)

—a+b+c
485 O00O0O0OO0OOOOOO
abe
R=—
45

486 0O0OOOO

2s:=a+b+c
S = /s(s—a)(s—Db)(s—c)

487 0OOOOOO

1 double convexDiameter (P[] ps) {

2 int n = ps.length;

3 int is = 0, js = 0;

4  for (int i = 1; i < n; i++) {

5 if (ps[i].x > pslis].x) is = i;

6 if (psl[i].x < ps[js].x) js = i;

T}

8  double maxd = ps[is].sub(ps[js]).abs();

9 int i = is, j = js;
10 do {
11 if (ps[(i + 1) % nl.sub(ps[i]).det(ps[(j + 1) % nl.sub(ps[jl1)) >= 0) {
12 j=@G+1) % mn;
13 } else {
14 i= (G + 1) %n;
15 }
16 maxd = max(maxd, ps[i].sub(ps[j]).abs());
17} while (i !=1is || j !'= js);
18 return maxd;
19 }

5

5.1

0ooo0ooo0ooo0oooooo0oo0o So0o0ooU0oo0O0oD BoOoooOooooo Ioooo

B
S==41-1
5 T

gooo

oooo

1
2
3
4

5
6
7
8
9

10
11
12
13
14
15
16

//0000000
double disLP(P p1, P p2, P q) {
return p2.sub(pl).det(q.sub(pl)).abs() / p2.sub(pl).abs();
}
//00000000
double disLL(P p1, P p2, P q1, P q2) {
P p = ql.sub(pl);
P u = p2.sub(pl);
P v = g2.sub(ql);
double d = u.abs2() * v.abs2() - u.dot(v) * u.dot(v);
if (abs(d) < EPS) return disLP(ql, q2, pl);
(p.dot(u) * v.abs2() - p.dot(v) * u.dot(v)) / d;
return disLP(ql, g2, pl.add(u.mul(s)));
}
//00000000
P isFL(P p, P o, P q1, P q2) {

double s =
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17 double a = o.dot(q2.sub(p)); 25 }

18  double b = o.dot(ql.sub(p)); 26 crt = next;

19  double d = a - b; 27}

20 if (abs(d) < EPS) return null;

21 return ql.mul(a).sub(q2.mul(b)).div(d);
22}

23 //00000000

24 P[] isFF(P pi, P ol, P p2, P 02) {

25 P e = ol.det(02);

26 P v = ol.det(e);

27  double d = 02.dot(v);

28 if (abs(d) < EPS) return null;

29 P q = pl.add(v.mul(o2.dot(p2.sub(pl)) / d4));
30  return new P[]{q, q.add(e)};

28  P[I[] pss = new Plcrt.size()][3];
29 for (int i = 0; i < pss.length; i++) {

30 for (int j = 0; j < 3; j++) pssl[il[j] = pslcrt.get(i)[j1];
31}

32 return pss;

33 }

53 0000000
O(nlogn)
goo0oo0ob0opobOO0O0O0O0O0ODODO
0o0o0000000000000000000000000

31} 1 P[1[] convexCut(P[1[] pss, P p, P o) {
2 ArrayList<P[]> res = new ArrayList<P[]>();
52 0000 3 ArrayList<P> sec = new ArrayList<P>();
gooobooooooobooboooooogoo 4 for (P[] ps : pss) {
gooobooobooobooboobooboboobooo 5 int n = ps.length;
O(n?) 6 ArrayList<P> gs = new ArrayList<P>();
1 P[] convexHull(P[] ps) { 7 boolean dif = false;
2 int n = ps.length; 8 for (int i = 0; i < n; i++) {
3 //vs[i]l [j]=0 i—>jU00d0oo000ooo0o0ooooooo:obUbD:-10000000 1 9 int d1 = sig(o.dot(ps[i].sub(p)));
4 int[]1[] vs = new int[n][n]; 10 int d2 = sig(o.dot(ps[(i + 1) % nl.sub(p)));
5 List<int[]> crt = new ArrayList<int[]>(Q); 1 if (d1 <= 0) gs.add(ps[il);
6 crt.add(new int[1{0, 1, 2}); 12 if (d1 * d2 < 0) {
7  crt.add(mew int[]1{2, 1, 0}); 13 P q = isFL(p, o, psl[il, ps[(i + 1) % nl);
8 for (int i = 3; 1 < n; i++) { 14 gs.add(q);
9 List<int[]> next = new ArrayList<int[]1>Q); 15 sec.add(q);
10 for (int[] t : crt) { 16 }
11 int v = ps[t[1]].sub(ps[t[0]]).det(ps[t[2]].sub(ps[t[0]1])) .dot( 17 if (d1 == 0) sec.add(ps[il);
12 psli].sub(ps[t[0]])) <0 7 -1 : 1; 18 else dif = true;
13 if (v < 0) next.add(t); 19 dif |= o.dot(ps[(i + 1) % nl.sub(ps[il).det(ps[(i + 2) % nl.sub(ps[il))) < -EPS;
14 for (int j = 0; j < 3; j++) { 20 }
15 if (vs[t[(§ + 1) % 311[t[§]1] == 0) { 21 if (gs.size() > O && dif) res.add(gs.toArray(new P[0]));
16 vs[t[j11060(5 + 1) % 311 = v; 22}
17 } else { 23 //2D 0 convexHull 0 .dot(o) OO DO OO
18 if (vs[tl(G + 1) % 311[t[31] = v) { 24  if (sec.size() > 0) res.add(convexHull2D(sec.toArray(new P[0]), 0));
19 if (v > 0) next.add(new int[1{t[j], t[(j + 1) % 31, i}); 25  return res.toArray(new P[0][1);
20 else next.add(new int[J{t[(j + 1) % 31, t[jl, i}); 26 }
21 } 27 //000000
22 vs[t[(j + 1) % 311[t[3]1] = 0; 28 PII1M init() {
23 } 29 P[I[] pss = new P[6][4];
24 } 30  pss[0][0] = pss[11[0] = pss[2][0] = new P(-INF, -INF, -INF);
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31 pss[0][3] = pss[1]1[1] = pss[5]1[2] = new P(-INF, -INF, INF);
32 pss[0][1] = pss[2]1[3] = pss[4]1[2] = new P(-INF, INF, -INF);
33  pss[0][2] = pss[5]1[3] = pss[4][1] = new P(-INF, INF, INF);
34  pss[1]1[3] = pss[2]1[1] = pss[3][2] = new P( INF, -INF, -INF);
35 pss[1][2] = pss[5][1] = pss[3][3] = new P( INF, -INF, INF);
36 pss[2][2] = pss[4][3] = pss[3][1] = new P( INF, INF, -INF);
37  pss[5]1[0] = pss[4]1[0] = pss[3]1[0] = new P( INF, INF, INF);
38 return pss;

39 }

54 000
541 0000000000
000000 a,b,c,de, fO0000000
0000 O-ABCOOOO a=AB,b=BC,c=CA,d=0C,e=0A, f =0OB
(V) =@+ + e+ [P —a? =)+ P(F +a® + P+ d® -0 — )+ A + 02+ dP + e -

02 _ f2) _ a2b202 _ a262f2 _ d2b2f2 _ d2€262

55 00O
55.1 OOOO
s 0000 O

00000 dooon p=(p1,pe,--.,pe) 0 d000O0O0DO p*: g =p121 +P222+ .. + Pa—1Td—1 — Pa U
oo

00dOO0O0oooO h:zg=a1z1 +axa+...+a40 d00O0O0O A* = (a1,a9,...,a4-1,—aq) 00000
m00 O

0000000000000000000000

oooo

pEh& h* €p*

p0 hOODDOOO < A*0 p*00000
s 000000000 O

000 ARDOO0 HODOODOODOODOOODOODOODOOODOOOO0OO0O0O0O0000 A*000 H*OO
0Oo0000000000000
552 00001
m0000 O

00000 p=(2,y) 000000 p' = (z,y,2% +3>) 000

00000000 C:(z—a)®+(y—0)?=r20000000C" :z2=a(lrx—a)+bly—b)+r>000
m00 O

0000000000000 00000000000000000000

oooo

pO0 COOOOODOO «p0C'00000
s 000000000000 O

0000000 POOOOOOOOOOOOOOO POODOOO

PO0O000ODO0OD »=000000000 POODO0OOOOODOP 0000000000000
»=000000000 POOOOOOOOO
553 00002
s 0000 O

00000 p=(rg) 000000 Y =(L,0) 000
000000000000000000000
=00 O

gooooooooooooooooooobobooooo

6 00

6.1 DODO
6.1.1 0OOOO
2nCh
Cn) = n+1
0000 »0000000000000000000 C(n)00O
On000n-2000000000000 C(n—-2)00
6.1.2 0DOOOO
i000000 mE 000000000000 AOOOOOOOOO
xfi,j) = zli —1,5) + xli,j — 1] —xfi — 1,5 — m[i] — 1]
6.1.3 D0OO
n0 k000000000 OOOODOO
00000000 Pln—kkDOODODOOODOOODOOOO P(n,n)
Pli,j] = Pli — 1,4] + Pli,j — 1]
000000000000 0000D0D00000
O(n?)

1 int partition(int mn) {

2 int[] dp = new int[n + 1];

3 dpl0] = 1;

4  for (imt i = 1; i <= n; i++) {

5 for (int j =1, r=1; i - (B * j*x j-3) /2> 0; j++, r *= -1) {
6 dpl[i] +=dpli - 3 x j * j - j) / 2] * r;
7 if G- @*xj*xj+3)/2>0 {

8 dpl[i] +=dpli - (3 * j * j + j) / 2] * r;
9 }

10 }

11}

12 return dp[n];

13 }

6.1.4 0O0OO

oooo0oo0nO00000C0COOO0OO0O0O0O0O
Blnl = S0 Cln— 1,151
6.1.5 0O0O0O00O0O0OOOO
o000 000000000 KODOODOOODOODOOOOODOODO
gooooooobooooooooooobooboooooooo
Skl =(n—1)Sn—1,k] + S[n—1,k — 1]
6.1.6 0O0OO0OOOODO
000000 n0D00000DO0O0 KkKOOODODOOOODOO
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oooooooooooOooooooooboobooooooo
Bln)=3>",Sn:{00000
Sn, k] =kSn—1,k]+ S[n—1,k—1]
r0gddooooooooooonoo
Sin, k] =kSn—1,k]+ Cln—1,r —1]Sn —rk —1]
ood
6.1.7 ODOOOO
{1,...,n}000000000kDOOO0O0O0OOOODOOO
En,kl=(k+1)En—1,k]+ (n—k)E[n—1,k —1]
6.1.8 0OOOO

ye

PcA

= > (e

PpcSCA

NP

PeS

g(A) =Y f(8) <= f(A) = Y (—1)MI¥lg(3)

SCA SCA

6.19 0DOOOOO

m={0 (n000D0000000)
M™M= (-1)» (nODDD KODODOODOODO)

g(n) = 3 F(d) < f(n) = > u(d)g(5)

d|n d|n
L)
gl@) =D ) = J@) =Y umg(>)

6.1.10 0OO0ODOOOODOO

1
X =— E X

9eG
6.2 00O
621 0OOO
s 00000000 O
a’? =a (mod p)
(a,p)=1000 ¢! =1 (mod p)
000 a'=aP"? (mod p)

s 000000 O

¢(n)0 100000000000 O0000000000000C
1
¢(n):nH(1*1§)

pln

(a,n)=1000 «®™ =1 (mod n)

m00 O

a*=1 (modm)000000z0a (modm)0D0DOOO
a (modm)0000¢(m)0000e0 mOODODODOOO
00 pOOO00D0G(p—1)000

2*=1 (modp)00d|(p—1)00000000000 (d0)00000¢(d)O0000d

s(0000ooo o

(p—1)!'=-1 (mod p)

s 0000 O

000 pO000022=a (mod p) 00000 «=a"> =1 (mod p)

m Stern-Brocot 0 [

Jjod0oo0oooooooooooobooooooooooog
01
oo -,=
1’0
a c a a+c a+t+c c
DD(7,7>DDDD - — |0 —,=
b’ d (b b+d) (b+d d)
goooooooooooooag
goooooooood

goooooooooooooo
gooooooooooooooooooboog

a c
00 (—-,-)00000ad —bec=1
(b’d) ad — be

s000o0ooooo o

n'll
nl~ V2mn—
e

mnCkmodp O

2Cr000 p000000 <= k+(n—k)0pO00D000O0O0OOODODOOOOOOODO

O0n=> np k=Y kp'00000
nck = H n; Okl (mOd p)

6.22 00O0OO

00 p0000n!=apf 00000000 @ (modp)0000OD0
O(plogn)

1 int modFact(int n, int p) {

2 int res = 1;

3 while (n > 0) {

4 for (int i =1, m=n % p; i <= m; i++) res = (res * i) % p;
5 if ((@ /=p) %2 > 0) res = p - res;

6}

7 return res;

6 )
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6.23 00O0OOODOOOOOOOO
ar +by =ged(z,y) 000000000 {a,b,c=ged(z,y)} 000000
(a,b) 00000 (a+d¥,b—d2)

1 int[] exgcd(int x, int y) {
2 int a0 = 1, al = 0, bO =0, bl =1, t;

3 while (y != 0) {

4 t=a0-x/y*al; a0 = al; al = t;
5 t =Db0-x/y*Dbl; bO =bl; bl = t;
6 t=x%hy; x=y;9=t;

7}

8 if (x < 0) {

9 a0 = -al0; b0 = -b0; x = -x;

10}

11 return new int[] {a0, b0, x};

624 0000000
0000000 Az=B (mod M) 00000000 {z,m}000
0000000000 mll0D0O0

1 BigInt[] congruence(BigInt[] A, BigInt[] B, BigInt[] M) {

2 BigInt x =0, m = 1;

3 for (int i = 0; i < A.length; i++) {

4 BigInt a = A[i] * m, b = B[i] - A[i] * x, d = a.gcd(M[i]);
5 if (b % d != 0) return null;

6 x+=mx* (b / dx* (a/ d).modInv(M[i] / d) % (M[i]l / d));
7 m *= M[i] / d;

8

9

}

return new BigInt[] {x % m, m};
10 }
6.25 0OOOO

a®*=b (modm)000000 2000
oooooooooo -1000

1 long modLog(long a, long b, long m) {
2 if (b % exgcd(a, m)[2] != 0) return -1;
if (m == 0) return O;
long n = (long)sqrt(m) + 1;
Map<Long, Long> map = new HashMap<Long, Long>();

3

4

5

6 long an = 1;
7  for (long j = 0; j < n; j++) {

8 if (!map.containsKey(an)) map.put(an, j);
9 an = an * a % m;

10}

11 long ain = 1, res = Long.MAX_VALUE;

oo
12 for (long i = 0; i < n; i++) {
13 long[] is = congruence(ain, b, m);
14 for (long aj = is[0]; aj < m; aj += is[1]) if (map.containsKey(aj)) {
15 long j = map.get(aj);
16 res = min(res, i * n + j);
17 }
18 if (res < Long.MAX_VALUE) return res;
19 ain = ain * an % m;
20}
21 return -1;
22 }

626 0O00O0O0OOOOODOOOOO
s 000 O

ax+by=n00000 < (a,b) | n

ka=kb (modm)<=a=b (mod(kfni;n))

kx=1 (modm)O (k,m)|l000 (k,m)00D0ODOO
s 00 0O

fl@)=0 (modm)DD0OO0DOO
k

m=][][p000DD
i=1

O f(z)=0 (modp®)00D0D {z;},000001000000
fz)=0 (mod p®)0ODOOf(z)=0 (modp* OO '0DOOO
f(2)=0 (modp)00 f(z')=0 (modp®) =z’ +dp* ' (d=0,....,p—1)

I
f(@)#£0 (mod p):>:v’—f/($/)
6.3 O00O0O0O
6.3.1 00O
m 0000000 O
A
Ar=b0000 ADO 006000000000 AiDDDDD$i:‘|A"‘

goooooooooooooooao

s 0000 O

max{cz | Az < b,z > 0} = min{yb | yA > ¢,y > 0}
max{cz | Ax = b,z > 0} = min{yb | yA > ¢}
max{cz | Az = b} = min{yb | yA = ¢}

632 0O0O0OO
mAz=00000 X ={z0+> az;} 0000 O(nmr)

1 double[][] solutionSpace(double[][] A, double[] b) {
2 int n = A.length, m = A[O].length;
3  double[l[] a = new double[n][m + 1];
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4  for (int i = 0; i < m; i++) { for (int j = 0; j < i; j++) {
5 System.arraycopy(A[il, 0, alil, 0, m); ef += fs[j] * A[i - j + ZERO];
6 alil[m] = b[i]; 10 eb += bs[j] * A[-1 - j + ZERO];
7} 11 ex += x[j] * A[i - j + ZERO];
8 int[] id = new int[n + 1];//00000000 (i,id[i]) 000 12 }
9 £i11(id, -1); 13 if (abs(ef * eb - 1) < EPS) return null;
10 dint pi = 0;//000000 14 for (int j = i; j >= 0; j—-) {
11 for (int pj = 0; pi < n && pj < m; pj++) { 15 double af = (j < i ? fs[jl : 0), ab = (j !=0 ? bs[j - 11 : 0);
12 for (int i = pi + 1; i < n; i++) { 16 fs[jl =af / (1 - ef *x eb) - ef * ab / (1 - ef * eb);
13 if (abs(alillpjl) > abs(alpillpjl)) { 17 bs[jl] = ab / (1 - ef x eb) - eb *x af / (1 - ef * eb);
14 double[]l t = alil; alil = alpil; alpil = t; 18 }
15 } 19 for (int j = 0; j <= i; j++) x[j] += (b[i] - ex) * bs[jl;
16 } 20}
17 if (abs(alpil [pjl) < EPS) continue; 21 return x;
18 double inv = 1 / alpil[pjl; 22 }
19 for (int j = 0; j <= m; j++) alpil[j] *= inv;
20 for (int i = 0; i < n; i++) if (i != pi) { 6.3.3 OO0
21 double d = alil[pjl; max{czr | Az < b,z >0} 000
22 for (int j = 0; j <= m; j++) alil[jl -= d * alpil [j]; 0000000000 nullOOO
23 } 1 double[] simplex(double[][] A, double[] b, double[] ¢) {
24 id[pi++] = pj; 2 int n = A.length, m = A[O].length + 1, r =n, s =m - 1;
25 } 3 double[][] D = new double[n + 2] [m + 1];
26 for (int i = pi; i < mn; i++) if (abs(alil[m]) > EPS) return null; 4 int[] ix = new int[n + m];
27  double[][] X = new double[l + m - pi] [m]; 5 for (int i = 0; i < n + m; i++) ix[i] = i;
28 for (int j =0, k = 0; j < m; j++) { 6 for (int i = 0; i < n; i++) {
29 if (id[k] == j) X[0]1[j] = alk++][m]; 7 for (int j = 0; j < m - 1; j++) D[il[j] = -A[i1[j];
30 else { 8 D[il[m - 1] = 1;
31 for (int i = 0; i < k; i++) X[1 + j - kI[id[i]] = -alil[jl; 9 D[i]l [m] = b[il;
32 X[1 + 3 - kl[3] =1, 10 if (D[r][m] > D[il[m]) r = i;
33 } 11}
34} 12 for (int j = 0; j <m - 1; j++) DInl[j]1 = c[jl;
35 return X; 13 Dn + 11[m - 1] = -1;
36 } 14 for (double d;;) {
15 if (r <) {
m Toeplitz 00 ADODODAz=b0000 O(n?) 16 int t = ix[s]; ix[s] = ix[r + mn]; ix[r + m] = t;
Ali,j] = Ali — j + ZERO)] 17 D[r][s] = 1.0 / D[r][s];
A[0,0] #0 18 for (int j = 0; j <= m; j++) if (j !'= s) D[r][j] *= -D[r]l[s];
1 double[] levinson(double[] A, double[] b) { 19 for (int i = 0; i <=n + 1; i++) if (@ !=1) {
2 int n = (A.length + 1) / 2, ZERO = n - 1; 20 for (int j = 0; j <= m; j++) if (j != s) DLI[j] += DIrl[j] = D[il[s];
3 double[] x = new double[n], fs = new double[n], bs = new double[n]; 21 D[i][s] *= D[r][s];
4 £s[0] = bs[0] = 1 / A[ZERO]; 22 }
5 x[0] = b[0] / A[ZERO]; 23 }
6 for (int i = 1; i < n; i++) { 24 r=-1; s = -1;
7 double ef = 0, eb = 0, ex = 0; 25 for (int j = 0; j < m; j++) if (s < 0 || ix[s] > ix[j1) {
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26 if (D[n + 11[j]1 > EPS || D[n + 11[j] > -EPS && D[n][j] > EPS) s = j; ‘ ‘
27 } 635 000
28 if (s < 0) break; O(n5) ooo
29 for (int i = 0; i < n; i++) if (D[i][s] < -EPS) { 0000000, 0000000000000 0000
30 if (r < 0 || (d =D[r][m]l / DIxl[s] - D[il[m] / D[il[s]) < -EPS 1 BigInteger[] intSolve(BigInteger[][] A, BigInteger[] b) {
31 [l d < EPS && ix[r + m] > ix[i + m]) r = i; 2 int n = A.length, m = A[0].length;
32 } 3  BiglInteger[][] a = new BigInteger[n][m + 1];
33 if (r < 0) return null;//000 4 for (imt i = 0; i < n; i++) {
34 } 5 for (int j = 0; j < m; j++) alill[j]l = A[il[jl;
35 if (D[n + 1][m] < -EPS) return null;//0000 6 alil[m] = b[il;
36  double[] x = new double[m - 1]; 7 )
37 for (dnt i =m; i < n + m; i++) if (ix[i] < m - 1) x[ix[i]] = D[i - m] [m]; 8  Stack<Trans> trans = new Stack<Trans>();
38 return x;//00 D[n] [m] 9 for (int p = 0; p < m & p < n; p++) {
39 } 10 for (5;) {
11 int pi = p, pj = p;
6.3.4 00O 12 for (int i = p; i < n; i++) {
000 aign =2 kjaip; +d0000am =Y, ¢a;,+¢,d000000 {¢}0000 13 for (int j = p; j < m; j++) {
O(n?logm) 14 if (alil[j].signum() '= 0 && (alpil [pj].signum() ==
{k;}000000000 FFTOOOOOOO O(nlognlogm)000 15 Il alpil [pj].abs().compareTo(ali] [j]1.abs()) > 0)) {
1 double[] recFormula(double[] k, long m) { 16 pi = i;
2 int n = k.length; 17 PJ = Js
3 double[] ¢ = new double[n + 1]; 18 }
4 if (m < n) c[(int)m] = 1; 19 }
5 else { 20 }
6 double[] b = recFormula(k, m >>> 1); 21 swap(a, pi, p);
7 double[] a = new double[n * 2]; 22 for (int i = p; i < n; i++) swap(alil, pj, p);
8 int s = (int)(m & 1); 23 if (pj !'= p) trans.push(new Trans(0, pj, p, null));
9 for (int i = 0; i < n; i++) { 24 if (alpl[pl.signum() == 0) break;
10 for (int j = 0; j < m; j++) { 25 boolean end = true;
11 ali + j + s] += b[i] * b[j]; 26 for (int i = p + 1; i < n; i++) {
12 } 27 BigInteger d = al[i][p].divide(alp][pl);
13 c[n] += blil; 28 end = end && alil [p].signum() == 0;
14 } 29 for (int j = p; j <= m; j++) {
15 cln] = (cln] + 1) * blnl; 30 alil [j] = alil[j].subtract(alp] [j].multiply(d));
16 for (int i =n * 2 - 1; i >= n; i--) { 31 }
17 for (int j = 0; j < mn; j++) { 32 }
18 ali - n + j] += k[j] * alil; 33 for (int j = p + 1; j < m; j++) {
19 } 34 BigInteger d = alp][j].divide(alp][pl);
20 c[n] += alil; 35 end = end && alp]l[j].signum() == 0;
21 } 36 trans.push(new Trans(l, j, p, d));
22 System.arraycopy(a, 0, c, 0, n); 37 for (int i = p; i < n; i++) {
23} 38 alil[j] = alil[j].subtract(ali] [p].multiply(d));
24 return c; 39 }
25 } 40 }
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41 if (end) break; 14 }
42 } 15 }
43} 16}
44 BigInteger[] res = new BigInteger([m]; 17 for (imnt i = 0; i < n; i++) {
45  fill(res, ZEROD); 18 int j = Integer.reverse(i) >>> d;
46 for (int i = 0; 1 < m & i < n; i++) { 19 if (§j < 1) {
a7 if (alil[i].signum() < 0) { 20 double tr = realli]; reallil = realljl; reallj] = tr;
48 alil[i] = al[il[i] .negate(); 21 double ti = imag[il; imag[i] = imag[jl; imag(j] = ti;
49 ali]l [m] = al[il [m].negate(); 22 }
50 } 23}
51 if (alil[il.signum() == 0) { 24}
52 if (a[i] [m].signum() != 0) return null;
53 } else if (ali] [m].mod(alil[i]).signum() == 0) { 642 0O0OOOOO
54 res[i] = a[i][m].divide(al[i][i]);
55 } else return null; &
56 } =3 !
57  for (int i = min(m, n); i < n; i++) if (a[i]l[m].signum() != 0) return null; nO:OO —
58 while (!trams.isEmpty()) { log(1+ ) = Z (_171 2" (Jz] < 1)
59 Trans t = trans.pop(); n=l
60 if (t.type == 0) swap(res, t.a, t.b); SIHIZZ (=D 20l
61 else res[t.b] = res[t.b].subtract(res[t.a].multiply(t.c)); n=0 (2n +1)!
oo
62} cosT = Z " 2"
63  return res; fors (2n)!
64 } ) = (2n)!
arcsinz = T;} Ta2(2n £1) 1)362”“ (Jz| < 1)
6.4 0O
641 0DOO0OOOOOO 6.43 0OOOO
m O(nlogn) m00000000 O
oo0o2000000000 00 f(x)D00OO0O0DODDOO0OOOODOOOOOODOO
0000000 sign=1,0000000 sign=-100000 . 51 z
0000000000 1/200000 [ e~ | fa0) +2 3 flaa) 44 flazin) + (o)
1 void fft(int sign, double[] real, double[] imag) { @ j=1 j=1
2 int n = real.length, d = Integer.numberOfLeadingZeros(n) + 1; 000n0O [eb0000000000DO0O00O0OO0ODOOOO
3  double theta = sign * 2 x PI / n; h— bia[lzi:a-l-ih
4  for (int m = n; m >= 2; m >>= 1, theta *= 2) { n
5 for (int i = 0, mh = m >> 1; i < mh; i++) { 000000 h0ODO O(hY)
6 double wr = cos(i * theta), wi = sin(i * theta);
7 for (int j = i; j < n; j +=m) { ¢ ooo
8 int k = j + mh; 7.1 KMP
9 double xr = reall[j] - reallk], xi = imag[j] - imaglk]; 0000 t0000000 pOQQ
10 real[j] += reallk]; faili] O prefix 0 sufix 0000000000 Le0,4)000
11 imag[j] += imaglk]; OO00nfailn) 0000000000
12 real[k] = wr * xr - wi * xi; 000s00000000000000000000O0Orev(s)0s000000i=n-100000 faill0OO0O
13 imagl[k] = wr * xi + wi * xr;

0i-jO00o00000ooo
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1 class KMP { 16 que.offer(root);
2  int m; 17 while (!que.isEmpty()) {
3 char[] p; 18 Node t = que.poll();
4 int[] fail; 19 for (Map.Entry<Character, Node> e : t.cs.entrySet()) {
5  KMP(char[] p) { 20 char ¢ = e.getKey();
6 m = p.length; 21 Node u = e.getValue();
7 this.p = p; 22 que.offer(u);
8 fail = new int[m + 1]; 23 Node r = t.fail;
9 int crt = faill[0] = -1; 24 while (r !'= null && !'r.cs.containsKey(c)) r = r.fail;
10 for (int i = 1; i <= m; i++) { 25 if (r == null) u.fail = root;
11 while (crt >= 0 && plcrt] != p[i - 1]) crt = faillcrtl; 26 else u.fail = r.cs.get(c);
12 fail[i] = ++crt; 27 u.accept.addAll(u.fail.accept);
13 } 28 }
14 } 29 }
15  int searchFrom(char([] t) { 30}
16 int n = t.length, count = 0; 31 int[] searchFrom(char[] t) {
17 for (int i = 0, j = 0; i < n; i++) { 32 int n = t.length;
18 while (j >= 0 && t[i]l '= p[j1) j = failljl; 33 int[] count = new int[m];
19 if (++j == m) { 34 Node u = root;
20 count++; 35 for (int i = 0; i < n; i++) {
21 j = failljl; 36 while (u !'= null && 'u.cs.containsKey(t[i])) u = u.fail;
22 } 37 if (u == null) u = root;
23 } 38 else u = u.cs.get(t[il);
24 return count; 39 for (int j : u.accept) count[jl++;
25} 40 }
26 } 41 return count;
42 1
7.2 AhoCorasick 43 class Node {
000D t0000000000 psOO0O 44 Map<Character, Node> cs = new TreeMap<Character, Node>();
1 class AhoCorasick { 45 List<Integer> accept = new ArrayList<Integer>();
2  int m; 46 Node fail;
3 Node root; 47 }
4 AhoCorasick(char[J[] ps) { 48 }
5 m = ps.length;
6 root = new Node(); 7.3 SuffixArray
7 for (int i = 0; i < m; i++) { O(n log n)
8 Node t = root; 1 class SuffixArray {
9 for (char c : ps[il) { 2 int n;
10 if (!t.cs.containsKey(c)) t.cs.put(c, new Node()); 3 char[] cs;
11 t = t.cs.get(c); 4 int[] si, is;//000000000000000O0O
12 } 5  SuffixArray(char[] t) {
13 t.accept.add(i); 6 n = t.length;
14 } 7 cs = new char[n + 1];
15 Queue<Node> que = new LinkedList<Node>(); 8 System.arraycopy(t, 0, cs, 0, n);
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9 csln] = 0;//00 (0000000000 O0O00O0) \ |
10 is = new int[n + 1]; 74 00O

11 for (int i = 0; i <= n; i++) is[i] = cslil; 00000 :[a,b),[ac),bd 000000000 [¢,d 000

12 si = indexSort(is); Om)0D0O00DO0OODO

13 int[] a = new int[n + 1], b = new int[n + 1]; len[i:i/200000000000000

14 for (int h = 0; ; ) { 1 int[] palindrome(char[] cs) {

15 for (int i = 0; i < nj; i++) { 2  int n = cs.length;

16 int x = si[i + 1], y = silil; 3 int[] len = new int[n * 2];

17 bli + 1] = bl[il; 4 for (int i =0, j =0, k; i <n *2; i+=k, j=max(j - k, 0)) {
18 if (is[x] > isly] || islx + h]l > isly + hl) b[i + 1]++; 5 while (1 - j>> 0&& i+ j+1<n=*2

19 } 6 && csl(i - j) / 2] == cs[(d + j + 1) / 2]) j++;

20 for (int i = 0; i <= n; i++) is[sil[i]] = b[il; 7 len[i] = j;

21 if (b[n] == n) break; 8 for (k= 1; i —k > 0& j - k >= 0 && len[i - k] !'= j - k; k++) {
22 h = max(1, h << 1); 9 len[i + k] = min(len[i - kI, j - k);

23 for (int k = h; k >= 0; k -= h) { 10 }

24 £ill(b, 0); 11}

25 b[0] = k; 12 return len;

26 for (int i = k; i <= n; i++) blis[i]l]++; 13 }

27 for (int i = 0; i < n; i++) b[i + 1] += b[il;

28 for (int i = n; i >= 0; i--) {

29 al--b[silil + k >n 7 0 : is[si[i] + k111 = silil; 8 oD

30 } 81 000ODO

31 int[] tmp = si; si = a; a = tmp; 811 0000

32 } (M) peF

33 } (M2) XCYEF=>XeF

34} (M3) X,Y € F,|X|>|V]|>Jw e X\Y.YU{a} e F

35 int[] hs;//hs[i]l:=00000 suffix0 i 0 i+1 0 LCP (M3/)E| XCEDDOODOOXOOOODOODDOODOO

36  void buildHs() { 812 OOOOO

37 hs = new int[n + 1]; (R1) 7(X) < |X|

38 for (int i = 0, h = 0; i < n; i++) { (R2) X CY = r(X) < r(Y)

39 for (int j = silis[il - 11; cs[i + h] == cs[j + hl; h++); (R3) (X UY) +7(XNY) < r(X)+r(Y)

40 hs[is[i] - 1] = h; 813 O00O0OOOOO

41 if (h > 0) h--; D0000000000 (0000)0000000000000000000000000000000000
42 } 0oooooo

43} 1. X=¢oooo

44 RMQ rmg; 2. EU{s,t}000000000000000000000 sO00¢t000000000
45 void buildRMQ() { (s,y): X0 y000000 ROOO

46 rmq = new RMQ(hs);//0 0000 (y,t): X0 yDOODOO F,OOO

ar ) (z,y): X O yOOOOODO AODOOOOOO002:00000000000

48 //001i,;000000000 LcP0DO0 (y,): X0 y0D0OD00 KRODODD0OO0O000z00000000000

49 int getLCP(int i, int j) { 3. 000000000000X000

50 if (i == j) return n - i; 000000X :=XU{yo, s Ymf \{z1,- -,z } 00000 20

51 return rmq.query(min(is[i], is[j]), max(is[il, is[j1)); 814 0OO0OOOO0O

52}

53 }

X=X,U---UX,0 X;, e ,OOOD XO00O0O0OO «XeFOOOOODODOOOODDODODOOODDOODO
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0O0000D00OD0D0OE =Ex{l,---,k}0000000200000000000000000 1 class Scanner {
F={QCFE:000:i0 Q,;€F} 2  BufferedReader br;
F={QCFE:000i#;0 Q:NnQ; =10} 3 StringTokenizer st;
0000Q;={e€ E :(ei) €Q} 4 Scanner(InputStream in) {

82 0OUOOOOOO 5 br = new BufferedReader (new InputStreamReader(in));

821 OOOOOO 6 eat("");

000 «00000000C0O0O0O0O0 7}
000 «0000000DOO00DODODOO 8 void eat(String s) {

8.2.2 Nim 9 st = new StringTokenizer(s);
goooobooobOOoooOOoooOooDooooOooooboooboooooooOobooo 10 }

0000o0ooooo XOorROOOoooooOoOoooooooOooo 11 String nextLine() {
0000 XOROUODODOOUOOODOODODOUDOODODOOD XORU 0ODODODODUDDOOOODOO 12 try {
0000000000000 0000XORO 00000 0,1000000000DODDOXOROOODOODO 13 return br.readLine();

ooo100000 14 } catch (I0Exception e) {

8.2.3 Grundy O 15 throw new IOError(e);
Grundy 00 a00000000000 a0 NimOOQOO 16 }

00000000000 00000 Grundy 000000000 O0000000000 GrundyOOQOO 17 }
000000000000000000 GrundyOdO XOROOODOO 18  boolean hasNext() {
0000000000000 0oo0o0o0oooooogo XOROoooooo 19 while (!st.hasMoreTokens()) {
0001~MODODODOOOODODOOD 200000000 mod (M+4+1)000D0DOOO 20 String s = nextLine();

83 00O 21 if (s == null) return false;

831 0OOOO 22 eat(s);
gooboboooboooooog 23 }

1 int days(int y, int m, int d) { 24 return true;

2 if (m < 3) { 25}

3 vy 26  String next() {

4 m += 12; 27 hasNext () ;

5 } 28 return st.nextToken();

6 return 365 x y +y /4 -y / 100 +y / 400 + (153 * m + 2) / 5 + d; 29}

7} 30  int nextInt() {

31 return Integer.parselnt(next());

8.3.2 java.util.GregorianCalendar 32}

000 [Sunday, Saturday] = [1, 7] 33 long nextLong() {

00 [January, December] = [0, 11] 34 return Long.parseLong(next());
15820 100 40000 15820 100 1500000000000 0O0O00O0O0OODODOOCOO 35 }

000000000D0D0000D0 setGregorianChange (new Date(Long.MIN_VALUE)) 00O O 36  double nextDouble() {
0000000000000 0setGregorianChange (new Date(Long.MAX_VALUE)) 0O 0O 37 return Double.parseDouble(next());
goooboooobooobooboobooboobooooo 38 }

(0)20080 60 310 =20080 70 10,20080 70310 -10 =20080 60 300 39 }

000000000000 getActualMaximum(Calendar.DAY_OF_MONTH)

0000000000 isLeapYear(year)
84 OO
8.4.1 Scanner
hasNext 00 OO0 O0O0O0OO00OO

842 nCkOOUOOODOODOODOOOO
ooooooo

1 for (int comb = (1 << k) - 1; comb < 1 << n;) {
2 /...
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‘3 int x = comb & -comb, y = comb + x; ‘ 19 is[c] = is[b]l;
‘4 comb = ((comb & “y) / x >>> 1) | y; ‘ 20 is[b] = is[al;
5} 21 is[al = t;
| 22}
843 0OOODO 23  Dicel] rollAll() {
C++ O next_permutation 24 Dice[] dices = new Dice[24];
goobobooooOooooobooooooodg 25 for (int i = 0; i < 6; i++) {
0000O00OO0000O0D0O0oOooooo 26 for (int j = 0; j < 4; j++) {
00000000 oOOooDoOOooDoooDooooo 27 dices[i * 4 + j] = new Dice(is.clone());
1 boolean nextPermutation(int[] is) { 28 roll1Z();
2 int n = is.length; 29 }
3 for (dnt i =n-1; i > 0; i--) { 30 if (1 & 1) > 0) rollX(Q);
4 if (is[i - 1] < is[i]) { 31 else rollY();
5 int j = n; 32 }
6 while (is[i - 1] >= is[--j1); 33 return dices;
7 swap(is, i - 1, j); 34}
8 rev(is, i, n); 35 }
9 return true;
10 } 845 00000
11 } n00000mOOOOO0OO0OO0O0O0O0OO0 AOOOOOOOOOOO [0,n—1]0000

16 void roll(int a, int b, int c, int d) {
17 int t = is[d];
18 is[d] = islcl;

12 rev(is, 0, n); J(n,m,0) = -1
13 return false; J(n,m,k) = (J(n—1,m,k — 1)+ k)%n
14 } O(k)
1 int josephus(int n, int m, int k) {
844 0O0OOO 2 int x = -1;
go0booobooooooooo 3 for (int i = n -k + 1; i <= n; i"“"){
1 class Dice { 4 x = (x +m) % i;
2 //top, front, left, right, back, bottom 5 }
3 int[] is = new int[6]; 6  return x;
4  Dice(int...is) { 7}
5 this.is = is;
6 } 000000
7 void rollX() { O(n)
8 roll(0, 1, 5, 4); TLDDDDDmDDDDDDDDDDDDxDDDDDDDDDD[l,n]DDDD
9 } 1 int invJosephus(int n, int m, int x) {
10 void rollY() { 2  for (int i =n; ; i--) {
11 roll(0, 3, 5, 2); 3 if (x == i) return n - i;
12} 4 x=(-m%i+i) % i;
13 wvoid rollZ() { 5 1}
14 roll(l, 3, 4, 2); 6}
5}

846 OOOOO
go0ooooooo0o0o0ooooooOoOoOobo0o0oooooobooOobbo0o0oO0o
O(n)
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1 int maxRect(int[] _hs) { for (s =0, t =1; t <=n; t++) {//MADOO0OO00
2 int n = _hs.length; int p = t;//0000000
3 int res = 0; 10 for (int i = t; i < n; i++) {
4 int[] hs = new int[n + 1];//n 0000 0000 11 if (glid[t - 1]11[id[i]1]) blid[i]]++;
5 System.arraycopy(_hs, 0, hs, 0, n); 12 if (blid[p]] < bl[id[i]]) p = i;
6  Stack<Integer> sx = new Stack<Integer>(); 13 }
7  Stack<Integer> sh = new Stack<Integer>(); 14 swap(id, t, p);
8  sh.push(0); 15 if (blid[t]] == 0) {//000 o000 [s,) 00000
9 for (int i = 0; i <= n; i++) { 16 min = n + 1;
10 int x = i; 17 dfs(new int[n], s, 0);
11 while (sh.peek() > hs[il) { 18 s = t;
12 res = max(res, sh.pop() * (i - (x = sx.pop()))); 19 }
13 } 20}
14 sx.push(x); 21 return res;
15 sh.push(hs[il); 22}
6} 23 void dfs(int[] is, int p, int k) {//is:000000,p:0000,k:000000
17 return res; 24 if (k >= min) return;
18} 25 if (p ==t) {
26 for (int i = s; i < t; i++) res[id[il] = is[il;
27 min = k;
9 00 28} else {
91 apOD 29 boolean[] used = new boolean[k + 1];
1 int alphaBeta(State s, int alpha, int beta) { 30 for (int i = 0; i < p; i++) if (glid[pl]1[id[il]) used[is[il] = true;
2 if (s.finished()) return s.calcScore(); 31 for (int i = 0; i <= k; i++) if (lused[il) {//00D000000 +1 00000
3  for (State t : s.next()) { 32 int[] js = is.clone();
4 alpha = max(alpha, -alphaBeta(t, -beta, —alpha)); 33 jslpl = i;
5 if (alpha >= beta) break; 34 dfs(js, p + 1, max(k, i + 1));
6 ) 35 }
7  return alpha; 36 }
8} 37 }

9.2 DOOOODOO
oo0oooooooobooOo0oOoooooobobooooooo
oooooooo
1.00000000000
2MAO0OO0O00O0O0OOOOOO
3.0000000000000000

1 int[] coloring(boolean[]1[] g) {

2 this.g = g;

int n = g.length;

res = new int[n];

id = new int[n + 1]1;//00000000 OOOO)
int[] b = new int[n + 1];//000

for (int i = 0; i <= n; i++) id[i] = i;

~N O O b W
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00oo0o0ooo0o0ooo0o0ooooooooo bPpOO0OOOOODOO

1 long match(V[] vs) {

2 int n = vs.length;

3 for (int i = 0; i < n; i++) vs[i].id = i;

4 for (Vv : vs) for (Vu : v) v.max = max(v.max, u.id);
5 longl] crt = {1};

6 int[] cvi = new int[n], civ = new int[n];

7 int cn = 0;

8  fill(evi, -1);

9 for (int k = 0; k < n; k++) {

10 int nn = 0;

11 int[] nvi = new int[n], niv = new int[n];
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10 VISUALIZER
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g.setRenderingHint (RenderingHints.KEY_ANTIALIASING,
RenderingHints.VALUE_ANTIALIAS_ON) ;
clear();
JComponent ¢ = new JComponent() {
protected void paintComponent(Graphics g) {
super.paintComponent (g) ;
g.drawImage(img, 0, 0, null);
}
b
c.setPreferredSize(new Dimension(500, 500));
add(c);
addMouseListener (new MouseAdapter() {
public void mouseClicked(MouseEvent e) {

stop = false;

}
s
setDefaultCloseOperation (EXIT_ON_CLOSE) ;
pack(Q);
setVisible(true);
}
void vis() {
repaint();
stop = true;
try {
while (stop) Thread.sleep(10);
} catch (Exception e) {

}
}

void clear() {
g.setColor(Color.WHITE) ;
g.fillRect (0, O, 500, 500);
g.setColor(Color.BLACK) ;

12 fill(nvi, -1);

13 for (int i = 0; i <= k; i++) if (vs[i].max > k) {

14 niv[nn] = i; 10
15 nvil[i] = nn++; 11
16 } 12
17 long[] next = new long[1l << nn]; 13
18 loop : for (int i = 0; i < 1 << cn; i++) if (crtli]l > 0) { 14
19 int i2 = 0; 15
20 boolean need = false; 16
21 for (int j = 0; j < cn; j++) if ((1 >> j & 1) !=0) { 17
22 if (avilciv[jl] < 0) { 18
23 if (need) continue loop; 19
24 need = true; 20
25 } else { 21
26 i2 |= 1 << nvilciv[jl]; 22
27 } 23
28 } 24
29 if (need) { 25
30 next[i2] += crt[il; 26
31 } else { 27
32 if (avilk] >= 0) { 28
33 next[i2 | 1 << nvi[k]] += crtl[i]; 29
34 } 30
35 for (V u : vs[kl) if (u.id < k & (i >> cvil[u.id] & 1) != 0) { 31
36 next[i2 ~ 1 << nvil[u.id]l] += crtl[il; 32
37 } 33
38 } 34
39 1 35
40 crt = next; c¢vi = nvi; civ = niv; cn = nn; 36
41} 37
42 return crt[0]; 38
43} 39
44 class V extends ArrayList<V> { 40
45  int id, max = -1; 41 }
46 }
10 Visualizer

1 class Vis extends JFrame {

2 BufferedImage img;

3 Graphics2D g;

4 boolean stop;

5 VisO {

6 img = new BufferedImage (500, 500, BufferedImage.TYPE_INT_RGB);

7 g = (Graphics2D)img.getGraphics();
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